Parts Information

- Parts list -

Vehicle WDDHF9BB7EA886684 (D04) E 550 4MATIC Sedan
Color 775 - Iridium silver - Metallic finish Equipment 211 - Leather - Black / anthracite
FIN: WDD2120911A886684 Assortment class PC
Group 01 ENGINE HOUSING Sub-group 045 OIL PAN & OIL LEVEL DISPLAY
127‘/
Image ID: drawing_PV000.001.606.250_version_002
Item Part number Designation/additional information Qty
15 A 278 010 00 13 OIL PAN 1
Upper part
[, [414] THE OLD PART MUST NO LONGER BE INSTALLED
FH Code: (F212/F216 /F218 /F221)+MO005;
Replaced by: A 278 010 02 13
Replaced by: A 278 010 65 04
15 A 27801002 13 OIL PAN 1
Upper part
FH Code: (F212/F216 /F218 /F221)+MO005;
Replaced by: A 278 010 65 04
Replaces: A 278 010 00 13
15 A 278 010 65 04 OIL PAN 1
Upper part
FH Code: (F212/F216 /F218 /F221)+MO005;
Replaces: A 278 010 02 13
Replaces: A 278 010 00 13
20 A 111 997 03 30 * SCREW PLUG, FILLING 1
5 Oil pan upper part

FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;

© Copyright 2023 Mercedes-Benz AG



Parts Information

Item Part number Designation/additional information Qty
25 N 007603 014106 * SEALING RING 1
5 Oil drain screw; 14X20-CU
ﬁ Code: (F212/F216/F217 /F218 /F221/F222)+M005;
30 N 000000 006968 HEXALOBULAR BOLT 2
Oil pan top section to rear cap; M6X87
32 N 000000 006968 HEXALOBULAR BOLT 2
Oil pan top section to rear cap; M6X87
35 N 910143 008003 HEXALOBULAR BOLT 2
Oil pan upper part to cylinder crankcase lower part; M8X30
35 N 910143 006009 HEXALOBULAR BOLT 2
Oil pan to cylinder crankcase, left; M6X65
FH Code: F166/F172/F204/F207 /F212 /F218 /F231/F292;
35 N 000000 003648 HEXALOBULAR BOLT 5
Oil pan to timing case; M6X25
FH Code: F166/F207 /F212/F218/F231/F292;
37 N 910143 008003 HEXALOBULAR BOLT 2
Oil pan upper part to cylinder crankcase lower part; M8X30
37 N 000000 003648 HEXALOBULAR BOLT 17
Oil pan upper part to cylinder crankcase lower part; M6X25
FH Code: (F212/F216/F218 /F221/F222)+M005;
37 N 910143 006009 HEXALOBULAR BOLT 2
Oil pan to cylinder crankcase, left; M6X65
FH Code: (F212/F216 /F218,/F221/F222)+M005;
37 N 000000 003648 HEXALOBULAR BOLT 5
Oil pan to timing case; M6X25
FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;
Replaces: N 910143 006003
37 N 910143 006003 HEXALOBULAR BOLT 5
Oil pan to timing case; M6X25
FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;
Replaced by: N 000000 003648
37 N 910143 006009 HEXALOBULAR BOLT 1
Oil pan top section to timing case; M6X65
FH Code: F166/F207 /F212/F218/F231/F292/(F216 /F217 /F221/F222 /F292)+MO005;
45 A 111 997 03 30 * SCREW PLUG, FILLING 1
5 Oil drain
FH Code: (F166/F217 /F222 /F292);
60 A 272010 01 26 CAP 1
Oil pan lower part
FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;
65 N 000000 001116 HEXALOBULAR BOLT 6
Oil pan bottom section to oil pan top section; M6X19
FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;
70 N 000908 026007 SCREW PLUG 2
[, [414] THE OLD PART MUST NO LONGER BE INSTALLED
FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;
Replaced by: A 001 990 79 17
70 A 00199079 17 SCREW PLUG 2
M26X1,5
FH Code: (F212/F216/F217 /F218 /F221/F222)+MO005;
Replaces: N 000908 026007
90 N 000000 006365 HEXALOBULAR BOLT 1

Oil dipstick tube mount in oil pan; M6X16
FH Code: F212/F231/F166/F292 /(F207 /F218)+-MO005;

© Copyright 2023 Mercedes-Benz AG



Parts Information

Item Part number Designation/additional information Qty
95 N 000000 006365 HEXALOBULAR BOLT 1
Oil dipstick tube mount in oil pan; M6X16
R Code: (F212/F216/F217 /F218/F221/F222)+MO005;
100 A 112 018 00 80 GASKET 1
Guide tube to cylinder crankcase
105 A 112 018 00 80 GASKET 1
Guide tube to cylinder crankcase
115 A 278 010 16 66 OIL DIPSTICK TUBE 1
Upper part
[, [414] THE OLD PART MUST NO LONGER BE INSTALLED
R Code: (F212/F216/F217 /F218/F221/F222)+M005;
Replaced by: A 278 010 03 24
Replaced by: A 278 010 92 03
115 A 278 010 03 24 OIL DIPSTICK TUBE 1
Upper part
FH Code: (F212/F216 /F218 /F221)+MO005;
Replaced by: A 278 010 92 03
Replaces: A 278 010 16 66
115 A 278 010 92 03 OIL DIPSTICK TUBE 1
Upper part
FH Code: (F212/F216/F218 /F221)+MO005;
Replaces: A 278 010 03 24
Replaces: A 278 010 16 66
125 A 278 010 1472 * OIL DIPSTICK 1
(] FH Code: (F212/F216 /F218 /F221)+MO005;
127 A 0229977545 ** O-RING 1
K53 Oil dipstick
FH Code: -(F217 /F222);
130 N 910143 006000 HEXALOBULAR BOLT 1
Guide tube to front cap; M6X12
FH Code: F207 /F212/F231/F218/F166 /F292;
135 N 910143 006000 HEXALOBULAR BOLT 1
Guide tube to front cap; M6X12
FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;
140 A 272 010 14 40 BRACKET 1
Oil level switch
FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;
150 N 910143 006013 HEXALOBULAR BOLT 1
Oil level switch holder to oil pan; M6X50
R Code: (F212/F216/F217 /F218/F221/F222)+M005;
150 N 910143 006005 HEXALOBULAR BOLT 1
Oil level switch holder to oil pan; M6X35
R Code: (F212/F216/F217 /F218/F221/F222)+M005;
160 A 272 014 02 95 SUPPORT 1
On oil pan
FH Code: (F212/F216/F217 /F218 /F221/F222)+MO005;
170 N 910143 012003 HEXALOBULAR BOLT 4
M12X1,5X35
FH Code: (F207 /F212/F216/F217 /F218 /F221/F222)+M005;
180 A 0019918160 TENSION PIN 2

© Copyright 2023 Mercedes-Benz AG

Support to oil pan
FH Code: (F212/F216 /F217 /F218 /F221/F222)+M005;



